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Python CEEZ KD ICldsetBZFERHL £,

Z L CPython TCldEE ZsetB EMF VX T,

JARNBDLSIC, setBERUKERDEZRINTE DR TI,
AN EDRENREWVIE

- BEUEEERIGL
- EFRICIEFHDL /LY

EWDSHRTY,

setl = set([1,2,3])

set2 = set([1,2,3,3,2,1]) #4 TILEEZWEICFH
print(setl)

print(set2)

{1, 2, 3}
{1, 2, 3}
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EROEMICIFadd XYy REFERHUET

#addXV v N TCEREZEN
myset = set([1,2,3])
myset.add(4)

print(myset)

(1.2, 3, 4}

EROHIRRICIEZremove XYy REFEHUZET

# removeX Y v N CEFZHIR
myset.remove(4)
print(myset)

{1, 2, 3}

EREETHIBKR I BICIEclear XYy REFERAULET

# clearX Vv N T2 THIR
myset.clear()
print(myset)

set()
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EEDETEE
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Sa0EE

fses
MERRERDALBES SHCEFNZLTOEATT.

| £fcld union XYy RZERULEXT

# | ZEHFULHTES
A= {123}
B = (3,4,5}

C=A|B
print(C)

(1,2, 3, 4, 5)
# unionX Vv N THRIES

C = A.union(B)
print(C)

(1.2, 3, 4,5}



Sa0EE

55
O
- |

]
B’&

FERDAICEBICHELESICHEEFNDIES T,

& Flld intersectionXAYV v RZ{EHUET

# & THES
A= {1,223)
B = (3,4,5)

C=A&B
print(C)

{3}
# intersection THES

C = A.intersection(B)
print(C)

(3}



Sa0EE

=88
E=ERIFERDADSBICEETFNIERZIRVWESRTY,

- FTzlE differenceXYV v RZFEHUET

#-TEES
A= {1,223}
B = (3,4,5})

C=A-B
print(C)

{1, 2}
# difference T=#£5

C = Adifference(B)
print(C)

(1,2}



SE0DEE

U RIBETES
MR E SIS ERIOESH SABICHAICEEFN A 3ERZIRWES T,

A (FrLwbh) Ffld symmetric differenceXYw RZ{ERAUEXT

# N THORISERIE S
A= {1,2,3}
B = (3,4,5)

C=A"B
print(C)

(1,2, 4, 5) 1 2 3
# symmetric_difference THMFIBERIES

C = A.symmetric_difference(B)
print(C)

(1,2, 4, 5}






Scipy

scipyldpython TEERBZFEHEZTOLHDZATZ 1) TY,
numpy DIREEILRIRDEY 2 —ILEBEZ. numpyDEEEICINZ . & D EERESLIEYHE
EWVWSTEETENTESLSICHE>TWVWET,

Scipy@1 VA ~—IL

pip install scipy

TA VA KN—JLAREETT,
xnumpyD -1 > A N =)L ETY,

SCipY@FIEBICIKSADEY 2 —IHHB2DT. ZNEFNDOEREFLXRNF 2 XY M Z2SR
LTL7ES N,
https://docs.scipy.org/doc/scipy/reference/



https://docs.scipy.org/doc/scipy/reference/

Scipy

Scipy CiER

sCipyZzFE A XREHDED (EED) NEEICITAERT,
En%ZEd BIClEscipy. integrate®y 2 —J)LDquad() ZEWNEX T,
RDKIEA— K TEITTEIT,

from scipy import integrate #-1 >iRk—b
Z#1, T2 = integrate.quad (BE&%, BHXEOKBED, FoXEDIEDHDD)

quad () [F5 A 5N TRz [XED®RED, XEOROLD]DODXEBETERDTULU. 2DDEZRDU Z
ZHELUCIIED ULERD. BRICIFENETEZ UICBROREN IRENE T,




Scipy CES

#Scipy THES
from scipy import integrate

#BIE 2x+5
def func(x):
return 2°x + 5

result, err = integrate.quad(func, O, 5)

print(\{oER [0} TIT\nREZ{1) T format(result, err))

BoERIZ50.0TY
R=E(325551115123125783e-13T9



Scipy

Scipy TiTAIDETE

115D
115D

aifr - aufl

& [Inumpy TH TE 2
TE&ICITREA B H DR = 2

LIHN scipyZEEZIFKIDE

from scipy import linalg #linalgE®EIa1—ILDA Vik—hk
import numpy as np #EIHERDTcOHnumpyH1L VIR—MULET

ScipylcFftic & {E 5Lt

Va—ILHFERICEL

PIEERET, WiaT AL

=2 SN T\

S

i

N\

o

IR E

7—1:

SEIRETENEETT,
=& fescipy. linalgz{EWE T

(11



Scipy TITIIDEHE

#Scipy T1T7DEIHE-

from scipy import linalg
import numpy as np #EFERED/cdnumpyE1>K—kULET

narray = np.array([[1, 2], [3, 4]]1) #numpy®array T2 x2®D{75% fELE

inv_narray = linalg.inv(narray) #7771
print('narray®:# 175 E\n{J\n".format(inv_narray))

result_det = linalg.det(inv_narray) #7771/
print(inv_narray® {73 (& {J\n'.format(result_det))

inv_narray_norm = linalg.norm(inv_narray) #.//L.A
print(inv_narray® ./ JL AE{} .format(inv_narray_norm))

narray® #1775 (&

[-2. 1.]

[ 1.5 -0.5]]

inv_narray® {73 {% -0.49999999999999967

inv_narray® ./ J)LAE2.73861278752583



Scipy

AP| Reference

The exact API of all functions and classes, as given by the docstrings. The APl documents expected types and
allowed features for all functions, and all parameters available for the algorithms.

Clustering package (scipy.cluster)

Constants (scipy.constants) integ rate
Discrete Fourier transforms (scipy.fftpacj%

Integration and ODEs (scipy.integrate)

Interpolation (scipy.interpolate)

Input and output (scipy.io)

Linear algebra (scipy.linalg)

Miscellaneous routines (scipy.misc)

Multi-dimensional image processing (scipy.ndimage)

Orthogonal distance regression (scipy.odr)

Optimization and Root Finding (scipy.optimize)

Signal processing (scipy.signal) 1inalg
Sparse matrices (scipy.sparse) /

Sparse linear algebra (scipy.sparse.linalg)

Compressed Sparse Graph Routines (scipy.sparse.csgraph)

Spatial algorithms and data structures (scipy.spatial)

Special functions (scipy.special)

Statistical functions (scipy.stats)

Statistical functions for masked arrays (scipy.stats.mstats)
e Low-level callback functions



formatBadsl



formatBi%x

formatBEZL & (S ?

formatBEEUE. Pyhon TEH DX FINDEDIAAICHEOINE T,
printBEH TEHERDOXFIEEBICHAULIEWEEICEDNZENLZ VT,
formatBEMDELRHGENITLITD K DICIED T,

"EEDOXFI{HEEDIFS' . format (ZE)

Nl

BESNZEZD{IAICEEIND



formatBi%x

#formatZ#e
CDl =15
CD2=18

total = CD1 + CD2

print('2 &H T : (8’ .format(total))

2HEHLE T 338 \ \

ESNEZE#Htotalh{}AICEETND



formatBi%x

BHD5|H =525

formatBEEUC (FEHDZE Mz E U TEL. XFIMTEDIAD I ENTEXT,

BHOEH IEDIADFEIE. EDG|HZED{ITEDIACHZIEEIT DULENHG D XTI H. EBEDAEKL
<DODHD XTI,

RENLGZDHDIT, LLTOERIC

A>Ty IR (BEFE) . F—T—R5|#. #H#Z5|# TETT,

{0}, {1}, {2}...'.format(Z#1, ZTH2, £#3...) #1>Tv I X (KRAF) TEXE
'{h1}, {h2},{h3}..'.format(h1=Z#1, h2=Z#2, h3=Z#..) #*—7T—RN5|¥TEE

'{h1},{h2},{h3}.." .format (**{'h1': 21, 'h2':Z#K2, 'h3':TH3...} ) #EHES|HTREE



formatBa&!

#Scipy THED
from scipy import integrate

#EIE 2x+5
def func(x):
return 2°x + 5

result, err = integrate.quad(func, O, 5)

print(\@o @R IO} TT\nREX{1) T format(result, err))

BoERIZ500TY
RE(35.551115123125783e-18 9

BESINIEZE#result&éerrh > 7Y IOXTESBESNIZ{IARICEETNSD



sciKit-learn



scikit-learn

scikit-learnid.
PythonDEEMEZ 14772 'J T,

57< GDMW—?%ST)I/Z“U ALDEREESNTED., EOFZIITVXLTERULSHBE

= A CHAY %

by I T—45tEy DB ELTWSZH., A VAN —=)LUTTCHEEMET R T &N TEFT,

Anaconda¥Google ColabTIEETA VA M—ILENTWBLHT CIfE

~N—ILDTTIE

pip install scikit-learn

TAYVAN—ILTEXT

https://scikit-learn.org/stable/

1

I TE XTI HN

*1 VR


https://scikit-learn.org/stable/




EwEE
MEeZR U ITHim. ATHENESFEBIDMAEATIE1—5YDTOUS ALK D> TER=ND,

HIRFEZ (L. FBDITHDT —INWLZITNIEZNEEEFTUWEBRR. DFEDEODBEMNESND,

71
O
FE

—|inear model
® data

ol (REOHSTIF) 23 (R EHDOERDFEF)

FDHOEMEEDOEREZZOHBICIERKEDT —F DIERNPHDETU T,
1 99 0O&FERLUBED/N—YFI)AVE1—5F—EA4 VT — Yy NOEXRIFIREDEBZEE OFELICKE L
BENERI-UTWET,




scikit-learn

scikit-learn ClEiTU N/ UV

YN,

§<

IEscikit-learn® )L Z

FEOEI, E<SADETILHREEINTWVEXT,

[DALF—hY—hEFENDH DT, scikit-learnZz

WTHERZEEZ1T O, BoMMTWeWwotr (08E/B)E/ 7 5AF U2 J1E) IEDWNWT,

& ) 75 -

=T )L ERERNICIRTE S5k|

classification

HESNTWBHEDTI,

scikit-learn
algorithm cheat-sheet

regression

dimensionality
reduction




scikit-learn

scikit-learn
algorithm cheat-sheet

classification

regression
B
few features ‘

dimensionality
reduction




scikit-learn

%8 (classification)
EZzZoNcrT—9%FEICDEIS 7)Y XLTY,
HEMHDEZEE U TUTORGEDMAEEINTWVWE Y,

SGD (stochastic gradient descent)
RBRT—% (Q10AHLUL) cE<. BEDT 7 ADEFE

H—=R IR
SGADTIE DXL DETERWESICHIBI 5. FEREL I SRANEFE, KRET—YAE

Linear SVC
F/NRIE (1o aERm) ICm<. BED U S ADEFE

kKiE (5%

Linear SVCTIES L AETEHRWGHEICHAIT 5. IEREL T SANEFE, F/IRET—FEE,




scikit-learn

[Ol)% (regression)
SzonktT—YOEEMEZTIC. HAOBERZFHITZ2HDTI,
ZENH D Z2EDOERAREE UTUTORBZEDMHARSNTVET,

SGD (stochastic gradient descent)
KFRT—5 (105HLLE) mED. EEDERSTFE

LASSO., ElasticNet
B (10751EKE) M. SRPETHO—BIPEERBAICERINBE

Ridge. Liner SVR
RIS (10HEER) B, FEEROLTHEEREAICERINBE

SVR (H D AHA—=IJV) . Ensemble
Ridge. F7clELinerSVRTIE D XK A TETRWSHICHIAT 5. FERAZKE

2

T

a5

AT

il

m

A
S
A



scikit-learn

P925A5Y)>% (clustering)
SZonlktT—%%. TNETNORFEICK > THEET %,
ZEN7 U2 E DO HEFREE U TUTORBE DMREHESNTVET,

KMeans
WS DDT FAFICODNDDD., EBFICRDBZENTEBHESICEITITOHEL. JT7RAT ) T450
MTFA

KABET—Y DIHFE. MiniBatch&E W-> T, T— 2T GBI EE3FEZRDFT

AR NIV ZAFZI T, GMM
KMeans TlE D £<L AT CELWETICFIBIT 5. FERER I XTI FEE

MeanShift. VBGMM
WS DDY ZRATCHahitdDh,
SAFF

dlnl

ERICRD D ENTELRWSZGEICEITITOHR, VAT IVT




scikit-learn

Z DM E CEAS N SR

RTCHIR
BEZoNlT—9 DRITEDZWNGE. ZEWERZ LTS8, RITEIE E WD BILE
PCA. 71— JLPCA. Isomap. SpectralEmbedding’ & DFEHH S

| TLL
~t
—\
)

ININ—=I\NT A —45 BEIFRIE(E

HMFEEZITOR. ZEOAEREZRARBRIDHEDO &2 TI\AI/IN—=I)\TX—=45; &M,
KEFEHCTREINDIENZWVWH, TNZ2HEMEE & U TEHEFHET SHEE,

Uy R —F JORNUTFT—=2 g VREDFEND S




SsCiKit-learn
CHRFE0DEIK




FEEZTT—HTZY MOFHHIAH

# scikit-learn
from sklearn import datasets #7 >2/i— ~

#FEBEXT—I1Y NDEFEHAH
digits = datasets.load_digits()

# TF— R

import matplotlib.pyplot as plt
plt.matshow/(digits.images[0], cmap="Greys")
plt.show()




AT —5 ETARNT—5 DEE(n

F—sty Mo, TFEERTOEGKT—Y) & FNENTD HT NEENET.
SEIEHETH D 2 BORT=ERT— 5 NEFICRD£T, BT —FRINILELRETET,
F—SFET—5 ETFANT—Y T, ET— 5 TRBULERE, TANT—Y TRIELS

# BRT— 7 ERINICT S
X = digits.data

#WF (NI =IE8T—7)
y = digits.target

# T —ETANT—=ZICHSS (SEES © 5)
X_train, y_train = X[0::2], y[0::2] # Jf—% ' E&iT
X_test, y_test = X[1:2), y[1:2] # 7 X h7—% | &F#¥iT

/11

EE



=
TIVICEZ Z1TWE T,
o(dZSVME WS PO U X LEEIRUTWE T,

0

K

# FEas DIEK. SVMEER
from sklearn import svm

clf = svm.SVC(gamma=0.001)

# U r—7 &SN TEE
clf.fit(X_train, y_train)

SVC(C=1.0, cache_size=200, class_weight=None, coef0=0.0,
decision_function_shape='ovr', degree=3, gamma=0.001, kernel="rbf’,
max_iter=-1, probability=False, random_state=None, shrinking=True,
tol=0.001, verbose=False)



E7 )LD

0.99
0.99

ETINDOZEEGERZ., TANT—YZ2HWTFHELLN—MRRUEXT

#E 7/ D S IFAZEE: 0.9866369710467706

from sklearn.metrics import classification_report #/F i L /K— kEDEZ 2 —/L precision

# TANT— TREFL /cIFEE 0 1.00 099 0.99

accuracy = clf.score(X_test, y_test) 1 0.98 1.00 0.99

print(f"IEA2E: {accuracy}") 2 1.00 1.00 1.00
3 1.00 098 0.99

#TRANT—FERFHUICBRERT 4 0.99 1.00 0.99

predicted = clf.predict(X_test) 5 0.98 0.97 0.97
6 0.99 1.00 0.99
7 0.99 1.00 0.99

#ELUWLIR—A 8 0.97 097 0.97

# precision((B53E): FIRU/CIEB/ZIRVICES 9 098 097 0.97

# recall(FBBHRE) : FEIR U IcIEFE/ 15D IEAE

# F-score(Ffli) : B8 EBREIZN L —RNA 7 DEIRICH S/ micro avg 099 099

print(classification_report(y_test, predicted)) macro avg 0.99 0.99

weighted avg 099 0.99

0.99

recall fl-score support

88
89
91
93
88
91
90
91
86
91



FHEDODEZEEHNTETET
AT 4w70EEWVWS I TUXLEZERUTHAFLU LD

¥ FEBDIER, O 71 v 70l ERH
from sklearn.linear_model import LogisticRegression
clf = LogisticRegression()

# Wi —5 &SN TEE
clf.fit(X_train, y_train)

LogisticRegression(C=1.0, class_weight=None, dual=False, fit_intercept=True,
intercept_scaling=1, max_iter=100, multi_class='warn’,
n_jobs=None, penalty='I2', random_state=None, solver='warn’,
tol=0.0001, verbose=0, warm_start=False)



€7 )LD EEh
2TF4wv70RTHTA N T ZHAWVWTEH

LLMN—KFRRUE

/71

#E 7/ D T o . . ) ) 1IEAZSE: 0.9398663697104677
from sklearn.metrics import classification_report #/¥#ffi L /f— K fFFDEZ 22—/ precision recall fl-score support

# TRANT—5 TREEL /c IEFEE

0 0.97 0.98 0.97 88
accuracy = clf.score(X_test, y_test
(B {accuracy)) 1 087 098 092 89
2 0.97 0.99 0.98 91
#TANT—FERTUIBREERT 3 0.93 0.92 0.93 93
predicted = clf.predict(X_test) 4 0.90 0.98 0.93 88
5 0.96 0.96 0.96 91
8% 0B ox b
# precision(\B5XE): BIRU/CIEB/BERUV/CES ‘ ' '
# recall(FHE) : iR L 7= 8/ 16D F5E g 091 08 089 86
# F-score(Fil) : BESEEBHREILN L —RNAZ7DEIRICH S/ 9 0.96 0.79 0.87 91
print(classification_report(y_test, predicted))
micro avg 094 094 094 898
macro avg 094 094 094 898
weighted avg 094 094 094 898






open cv

M

A Ea—Y —TCTERPEIEZNET

OpenCV (Open Source Computer Vision Library) (&. =

Bl DEBENLEEHTEEINTWDETATZTYTY,
PythonAAMC HC++ P Javall EB AR EEBISFEHAITI2ENTEET,
EBICTK SADEEREENEBHEINTVWEITDOTEIELAR T A M THESEZ L THTLIZE LY,

https://opencv-python-tutroals.readthedocs.io/en/latest/index.html

anaconda‘®google colabTIIEETA VAN —=ILENTWVWEITHERA VR

0 N—=ILDOAEEpip TA VAR —=ILLTLZE LY,
BREWBEDIKEZA T —THDnumpydb—HEICA VA RN=ILENExT (K

0 £ YR R—ILDF)

pip install opencv-python



https://opencv-python-tutroals.readthedocs.io/en/latest/index.html




open cv CEAtR

cv2.CascadeClassifier()ZfERAL., BAEHZRHTEXT

import numpy as np
import cv2

#¥OEBDRBEEBICEDPE/IESEE
face_cascade = cv2.CascadeClassifier('/anaconda3/lib/python3.6/site-packages/cv2/data/haarcascade_frontalface_default.xml’)

eye_cascade = cv2.CascadeClassifier('/anaconda3/lib/python3.6/site-packages/cv2/data/haarcascade_eye.xml’)

#IEBDEIREC I FATERD /NI ZI5E
img = cv2.imread('_1098-15079.jpg’)

gray = cv2.cvtColor(img, cv2.COLOR_BGR2GRAY)

faces = face_cascade.detectMultiScale(gray, 1.3, 5)
for (x,y,w,h) in faces:
img = cv2.rectangle(img,(x.,y),(x+w,y+h),(255,0,0),2)
roi_gray = gray[y:y+h, x:x+w]
roi_color = imgly:y+h, x:xx+w]
eyes = eye_cascade.detectMultiScale(roi_gray)
for (ex,ey,ew,eh) in eyes:
cv2.rectangle(roi_color,(ex.ey),(ex+ew,ey+eh),(0,255,0),2)

cvZ.imshow('img’,img)
cv2.waitKey(0)
cv2.destroyAllWindows()



open cv CEAtR

cv2.CascadeClassifier()ZfERAL., BAEHZRHTEXT




open Cv
Canny;ECIvw IR



open cv Canny;ECIw IR

cv2.Canny()ZzEW\Canny/E CLTY YV ZRHT 2FENTZE XTI,

cv2.Canny()D2DOH E3DH DS HZHET 5 &, MHETE DML EDLD XI5
# Canny; XTI v /#8H
import cv2

import numpy as np

img = cv2.imread('_1098-15079.jpg'\0) ##&/L TH SEHKDHTT
edges = cv2.Canny(img,100,200)

cvZ2.imshow('edges’,edges)

cvZ2.waitKey(0)
cvZ2.destroyAllWindows()



open cv Canny;5CIw IR

cv2.Canny()Z fEWL\Canny; A CIw I Z &L
cv2.Canny()(D2>

3D

=N TE X,

1Y B3

D3| =R/ET D&, RMETESWMADNEDD 2

EE

o



open cvV
BHEROEAMI S LZKRDH S



open cv EFDERXANITSLEKDS

cv2.calcHist( ) ZFEVWEBRDOE AN S LABERDBZEENTE X,
LANTILEE. T—Y DRI Az iEEH. HtEico 27 Licb DT,

BEROEARNITZLATIE R (R) . G () . B () OFvrxRILSElC, HEEHABED DR (o
~255) ZRU. MtEHAE7 )L BEERUTWET,

open cvCIRH. 7 Z 7FHRNRICmatplotlibZE{E->TWET,
& lZmatplotlib k1 VA M —JLDIFEF

pip install matplotlib

TAVAM=]LULTL S WY



open cv EFDODEANIT S L%ZERDS

#ERDEXRNTSLZERD S

import cv2

import numpy as np

from matplotlib import pyplot as plt

img = cv2.imread('_1098-15079.jpg") ##/ L TH SEHRDH T
color = ('b','d’,r’)
for i,col in enumerate(color):
histr = cv2.calcHist([img],[i],None,[256],[0,256])
plt.plot(histr,color = col)
plt.xlim([0,256])
plt.show()

2000 -
1750 A
1500 -
1250 A
1000 -

750 -
500

250

0 50 100 150 200 250



open cvV
Mo



open cv D&

cv2.HoughCircles () ZHEWHENSHDOER L IFTZIRE TE X I,
paraml=800DEUEZ /NS T B L&, b EEZLDOEANIREIND L DICKED T,

#F DR
import cv2
import numpy as np

img_org = cv2.imread('4976660182232.jpg") ##ffL TH BE&EDHITT
imgray = cv2.cvtColor(img_org,cv2.COLOR_BGR2GRAY)
imgray = cvZ2.medianBlur(imgray,5)

circles = cv2.HoughCircles(imgray,cv2.HOUGH_GRADIENT, 1,20,
param1=800,param2=30,minRadius=0,maxRadius=0) #param | D ZZX{ S LR HERDBFBN TEZEXT

circles = np.uint16(np.around(circles))

for iin circles[O,]:
# draw the outer circle
cv2.circle(img_org,(i[0],i[1]),i[2],(0,255,0),2)
# draw the center of the circle
cv2.circle(img_org,(i[0],i[1]),2,(0,0,255),3)

cvZ2.imshow('detected circles',img_org)
cv2.waitKey(0)
cv2.destroyAllWindows()



open cv HOD&H

cv2.HoughCircles () Z{# L)
paraml=800DEUEZ /NS T D&, > EZLKDF

BRI S

DERD VT 2= R

TEX9,

MR E

b5 EKDIC

—

AN

N

EE



Python T YV E1ERK



PythonT¥ > E1ER

BEcte L7
Subtractive-synth.py

ZRWVWTLTEE W,
python7 7 1 ILIS D THRAIAATERITI DREIH D X,

%l 4—Z=7F)L¥jupyter notebook™
python /CHEDRET 1 L ¥ kY /Subtractive-synth.py



Python T >V E1ERK

import numpy as np
import pyaudio
import struct
import cv2

import threading

RATE=44100
bufsize = 64

ksx = 800
ksy = 200
keyboard = np.zeros([ksy,ksx,3])
keyboard[:,:,:] = 255
for i in range(15):

cv2.rectangle(keyboard, (int(ksx/15*i), 0), (int(ksx/15*(i+1)),ksy), (0, @, @), 5)
for i in range(15):

if i in {0,1,3,4,5,7,8,10,11,12}:

cv2.rectangle(keyboard, (int(ksx/15*i + ksx/27 ), 0), (int(ksx/15*(i+1) + ksx/33),int(ksy/2)), (0, 0, 0), -1)

cv2.namedWindow("keyboard", cv2.WINDOW_NORMAL)

sl=np.array([0,150,150,255])

slName = np.array([ 'Wave_type',
"Attack’,
‘Release’,
"Lowpass_freq'])

def changeBar(val):

global sl

for i in range(4):

sl[i] = cv2.getTrackbarPos(slName[i], "keyboard")

cv2.createTrackbar(slName[0], "keyboard", @, 3, changeBar)
cv2.createTrackbar(slName[1], "keyboard", 06, 255, changeBar)
cv2.createTrackbar(slName[2], "keyboard", @, 255, changeBar)
cv2.createTrackbar(slName[3], "keyboard", 06, 255, changeBar)
for i in range(4):

cv2.setTrackbarPos(slName[i], "keyboard", sl[i])
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keyon = ©
pre_keyon = 0
pitch = 440
velosity = 0.0
highkeys = np.array([o,1,1,3,3,4,5,6,6,8,8,10,10,11, 12,13,13,15,15,16,17,18,18,20,20,22,22,23, 24,24])
lowkeys = np.array([o,2,4,5,7,9,11, 12,14,16,17,19,21,23, 24])
def mouse_event(event, x, y, flags, param):
global keyon,pre_keyon,pitch,velosity
if event == cv2.EVENT_LBUTTONDOWN:
keyon = 1
if y >= ksy/2:
note = lowkeys[int(15.0*x/ksx)]
elif y < ksy/2:
note = highkeys[int(30.0*x/ksx)]
pitch = 440*(np.power(2,(note-9)/12))
elif event == cv2.EVENT_LBUTTONUP :
keyon = 0
if pre_keyon ==0 and keyon ==1:
velosity = 0.0
pre_keyon = keyon
cv2.setMouseCallback("keyboard", mouse_event)

lpfbuf=np.zeros(4)
outwave=np.zeros(bufsize)
def lowpass(wave):
global 1lpfbuf,outwave
wo = 2.0*np.pi*(200+(s1l[3]/255.0)**2*%20000)/RATE;

Q =1.0

alpha = np.sin(w@)/(2.0*Q)

a@ = (1 + alpha)

al = -2*np.cos(w@)/a0d

a2 = (1 - alpha)/a®

bo = (1 - np.cos(w@))/2/a0
bl = (1 - np.cos(w@))/a0

b2 = (1 - np.cos(w@))/2/a0
for i in range(bufsize):
outwave[i] = bO*wave[i]+b1l*1pfbuf[1]+b2*1pfbuf[0]-al*1pfbuf[3]-a2*1pfbuf[2]

lpfbuf[0] = 1lpfbuf[1]
lpfbuf[1] = wave[i]

lpfbuf[2] = 1lpfbuf[3]
lpfbuf[3] = outwave[i]

return outwave



Python T >V E1ERK

x=np.arange(bufsize)

pos = O

def synthesize():
global pos,velosity

t = pitch * (x+pos) / RATE
t =t - np.trunc(t)
pos += bufsize

if sl[0]==1:
wave = t*2.0-1.0
elif sl[o]==2:
wave = np.zeros(bufsize);wave[t<=0.5]=-1;wave[t>0.5]=1;
elif sl[0]==3:
wave = np.abs(t*2.0-1.0)*2.0-1.0
else:
wave = np.sin(2.0*np.pi*t)

if keyon ==
vels = velosity + x * ((s1l[1]/1000)**3+0.00001)
vels[vels>0.6] = 0.6

else:
vels = velosity - x * ((s1l[2]/1000)**3+0.00001)
vels[vels<0.0] = 0.0

velosity = vels[-1]

wave = vels * wave

wave = lowpass(wave)

return wave

if _name__ == "_main__":

playing = 1
def audioplay():

print ("Start Streaming")
p=pyaudio.PyAudio()
stream=p.open(format = pyaudio.palntl6,
channels = 1,
rate = RATE,
frames_per_buffer = bufsize,
output = True)
while stream.is_active():
buf = synthesize()

buf = (buf * 32768.0).astype(np.intl6)
buf = struct.pack("h" * len(buf), *buf)
stream.write(buf)
if playing == 0O:
break
stream.stop_stream()
stream.close()
p.terminate()
print ("Stop Streaming")

thread = threading.Thread(target=audioplay)
thread.start()
while (True):
cv2.imshow("keyboard", keyboard)
k = cv2.waitKey(100) & OxFF
if k == ord('q'):
playing = ©
break

cv2.destroyAllWindows ()



Python T >V E1ERK

O keyboard

Wave_type (0/3)
Attack (150/255)
Release (000/255)

Lowpass_freq (000/255)
(x=89, y=3) ~ L
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